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SS  をを,,   aa,,   pp,,   qq  をを⽤⽤いいてて表表すすとと, , 

  

  SS ==((pp ++ 22aa))((qq ++ 22aa))−−ppqq == ppqq ++ 22aapp ++ 22aaqq ++ 44aa
22 −− ppqq

                 == 22aapp ++ 22aaqq ++ 44aa
22 == aa((22pp ++ 22qq ++ 44aa))⋯⋯ ①①

    

ℓℓ  をを,,  aa,,   pp,,   qq  をを⽤⽤いいてて表表すすとと, , 

      ℓℓ == 22((pp ++ aa))++22((qq ++ aa))== 22pp ++ 22aa ++ 22qq ++ 22aa == 22pp ++ 22qq ++ 44aa ⋯⋯ ②②
    

①①, , ②②よよりり  SS == aaℓℓ  ととななるる。。

解答例解答例

22 アア イイ ウウ

エエ オオ

      rr ++ aa ππaa((22rr ++ aa))

      ππ((22rr ++ aa))

    rr ++ aa
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22

ππaa((22rr ++ aa))

33 アア イイ
aa((22pp ++ aa))     22pp ++ aa


